CSEEPNG IS TR

HEAR ¢ ==X v2 12| 2 3Z
=] ZRE 902 915 H/H 1,830 FH/8 2,744 A/H
S IEES 819 831 A/H 1,661 M/H 2,492 A/H
=S ZRE 979 993 H/H 1,986 /8 2,979 A/H
S (EES 893 906 A/H 1,811 M/8 2,717 A/A8
o\ 3 ZIRE 1,044 1,059 H/H 2,118 H/H 3,176 FH/H
S IEES 958 972 AH/H 1,943 H/H 2,915 A/A
= ZRE 1,102| 1,118 H/H 2,235 A/H 3,353 A/H
S EES 1,017] 1,032 ®/H 2,063 A/H 3,094 A/H
P ZIRE 1,161 1,178 m/B 2,355 A/H 3,532 MH/H
EAEES —
fal= 1,074 1,089 H/H 2,178 A/H 3,267 /A
BERAAFTEENES
3R AR S 664 674 H/8 1,347 M/8 2,020 A/H
AR L 6B R % 927 940 H/H 1,880 FH/H 2,820 A/H
PN e 1,296 1,315 A/H 2,629 A/H 3,943 A/H
INEIEH EHAL 1E) 2 2 3Z
BRI ANEYF— 3> 240 244 H/RH 487 H/AH 730 H/8
DAVET T 76 77 M/8 154 H/H 231 M/8
WEBERE 24 25 MH/8 49 H/H 73 H/8
BEER 8 9 [M/[g] 17 A/[E] 25 [/
EEER - AEEETEEE (1) 51 52 MH/8 104 A/H 156 A/H
EEER - AEEsTEEE () 51 52 A/H 104 H/H 156 A/H
el 184 187 A/ 373 H/[E 560 F3/[E]
H— b ZRMEAEHRE (1) 22 23 A/H 45 H/H 67 H/8
H—E ZEEEFERE () 18 19 H/H 37 H/H 55 A/H
Y — & R HRRL () 6 6 M/H 12 M/H 18 M/H
HWEEFEE 275 279 A/H 558 [/H 837 A/H
K2R AREA 90 92 M/H 183 M/H 274 B/H
EEREEE 120 122 H/H 244 H/H 365 FH/H
(BEEBAMEENEDGS 60 61 A/H 122 AM/H 183 H/H
EXaELE e R 518 526 FM/H 1,051 M/8 1,576 A/H
RAVETTE) - OEERBE AN 200 203 H/H 406 H/H 609 H/H
EEMRMENRESA 120 122 H/H 244 /R 365 H/H
(BEEBAMEENEDGS 60 61 A/H 122 AM/H 183 H/H
O E s b 50 51 F/[A] 102 F3/[A] 153 F3/[9]
EEVR EHERSIME (1) 100 102 A/ 8 203 H/RB 305 [/ 8
MR EHEEEGIINE (1) 10 11 /A8 21 M/A8 31 A/H
NERMEEZLBRE (1) AHRETHEMEXT7.5%
NEBESMESE (1) AMAEGHEME <T7.1%
NEREZLEHRE () AHRAEFTEMEE X5.4%
NEBESMESE (IV) AMAEETEME < 4.4%
HIgX > (M - THkH) BB ERIE < 10.14
X EEROSFEIL, FTEMBISHIENER GIRTROZRBOSES @ 1 Ei=10.14M) %#FT( THHLE%T-

-E5EERTLTWET, EEHEHENTEDDIHEICL > THEMMBEZITIBRE, EROSTHREL IZETD

ERNELDHENDHY £,

Z DD RS

BE EE 440 /&

B 800 H/&

% 750 H/&
EEE %R 437 H/H

A= 1,728 H/H
B= : FRAER @A) 1,100 M/H
BENEE 200 M/H
B ESEAR 50 M/&
B 77 M/[E
TR AE R 10,000 3
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